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= 4yt Ql- 40 litres of a mixture of milk and water

contains 10% of water, the amount of water to
be added, to make the water content 20% in
the new mixtureis:

40 Stee a1 g 30 uret & faAsror A 10% st 1
mgmﬁmmﬁm&aaﬁmﬁzo%
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Q2. A mixture of 30 litres contains milk and
water in the ratio of 7 : 3. How much water
should be added to it so that the ratio of milk
and water becomes 3:7?

. 30 P1eT & T fAS0T A ger 30T uTsft &1 3fs[ura 7: 3
o Mmow %fasmﬂfaﬁmuwﬂiaﬁzm o aifés 28

A
30 (pte

7 3 3112 UTsfl &1 31(9Td 3 731(a)n}9
+x t:!l:!:lb B)49L
3 17 ’! L (D) 63L
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Q3. 200 Litres of a mixture contains 15% water
and the rest is milk. The amount of milk that
must be added so that the resulting mixture
contains 87.5% milk is

200 Stee fAT A 15% UTeft qaAT 219 3T g 2|
fAsror A g 6t fhaeft A= i fAsE 9 afds
10T H g&l 87.5% EI?

ufeumstt
T
U " . (D)45I.
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Q4. The ratio of milk and wateris 5: 4. If 78 liter
of water is added to it then ratio become 3 : 5,
then find quantity of mixture initially?

2 R Uaiazfaﬁgwﬁzmaﬁmarqmasmimﬁm
- m| w78 SBtee 32 fAST far ;e at s fAsr &1
v &L %ms:sg’tm%a’lﬁsmﬁmm
23] Jomra &2 S
2 s |U5]%5<Y(A) 332 (B)162 >
(c) 450 D) 350
S
A TS
&
(62
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Q5. In the mixture of salt and water, salt is
5%. If 20 litre of water get evaporated then
salt become 15% then find initial quantity
of mixture?

TP d UTeft & fAST A 5% 7S g1 afe 20

Stee uret HATdl &, dl FTHAB 15% &
Ardrg at 9[oT &t ATAT I4TC|

(A) 0L qB) 308

(c)e5L (D) 70 L
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Q6. The ratio of milk and water Iin a
¢6 L+t mixture of 66 it is 5: 6. If 18 it water is

added to the mixture, then find the ratio of
milk and water.

MW ty 66 Siez & v fAYUT F o 3z _ursh &
- (

5 . =¢ 3o 5: 6 g1 3HA 18 Flee uret AT R
/ ( I, aY 3d 3c[aTd T 19T 2
3o els 4:5 (B)9:5

4+ 13 (@ (D) None
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he) Gle Q7. The ratio of milk and water in a
mixture of 45 it is 4: 5. If milk and 20 it

water is added to the mixture, then find

M LW %‘Z = the ratio of milk and water.

45 Jfee & v AT A g 30T Ul &
Yy 5 ;gmms%lg'aﬁlwﬁzz;elzﬁzzom
/ . fAet R I, &t 3@ g 3 ureft &1
2 0

HTEN?

+ 15 ¥ Qo (B) 9 . 7
. ’; (D) None
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Q9. There are two mixture containing Gold, silver
and plantinum. First mixture contains 36% sil-
ver and second mixture contains 26% silver. The
percentage of gold in both mixture are same. If
200 kg of first mixture is mixed with the 500 kg of
second mixture, then the per- centage of Gold in
resultant mixture is 40%. Find the quantity of
platinum in the resultant mixture.

&Y, TTel 3ie Sfeaa & € fAsor g, ugs AT 36%
alal 8, gHe A 26% dlal ¢, alail fASOT d_Hia 6l
ufderd ATAT JTa ¢l afe uges fAS0T & 200 f3Hm. &1,
gEe TaAsIvT & 500 . & @AY fAST A at 3@ ot
11 AT & 38A 40% AT &, af fRsor A Sfeaar Hi
AT fdasitz? —

(A) 246 kg kg
(c) 250 kg %
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Q10. There is 4% sugar in the 12 Itr
solution of sugar and water. After
boiling 2 Itr. water get evaporated from
it. Then the % of left sugar in the

(K> % | Joxx solution?
e e Hisft de uret & e A ot b 12 Slee &
Vg < 1o 38A 4% it 21 91 B I Heds arsd gl
_ = 2 Stez urelt 331 RA ot w2 oY "l A
vl feaftwdiftents
(A) 4.8% () EX:FA
(C) 4.7% (D) 4.5%
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QIl. 20 kg fresh water melon contains 96%
water after sometime water remains 95%
find the present weight of water melon.

20 ﬁmvarﬁqa;ga ' 96% UTell 8, B AU
a1 3HA 95% UTall 28 ATAl &1 degul &I dddiTel
aotel SATd it |

(A) 15kg (C)16kg

(B) 18 kg (D) 20 kg
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Q13. There is 50 Kg. milk in a tank. 10 Kg. milk is
replaced with 10 Kg. water. This process is re-

2 peated two times. Finally how much milk is
’5")‘( Je “'°) remaining in the tank?
e Us bl A 50 B g 21 &4 & 10 fan. qu
S5 s Lé fA@Taae saen & urslt 31 faar I ag fasar &
5 %y g1 SYEeTE ITE 3fod A &bl A fbaenger g 2

(A) 31Kg./fd. (B) 28 Kg. /.
:> C) 32Kg./ : (D) 29 Kg./fa=m.
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Q14. There are 81 litres pure milk in a container.
One-third of milk is replaced by water in the
container. Again one-third of mixture is

gix( & ’R‘ﬁ):{ extracted and equal amount of water is added.
L What is the ratio of milk to water in the new

BTr 5% ~ mixture?
‘g — Z4n v ura A 81 Fiee e g 81 3 & vas fAwrs o
% fA®Taewe uret & e a1 I gat: T

faerd o fA@sTade urelt & wfdznfia faar srm
ad o1 TASI0T A &I 3112 UTeft &1 3fe[uTd oT 29T 2

AT,
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o) = @ Q15. There is pure milk in a vessel. 20%
of milk is replaced with water. If this

process is repeated 3 times, what is the

: percentage of milk at the end?
W.oo T dddl, 2[# 3¢ &, THA A 20% Bl
ureit & deo f2ar Iran af? adt fbar dfia g
LY SIS, fosan & 3rea & e[ g 6t
s ufderaar @ 2ft 2
S 5¢ (A) 40.0% (B) 50.0%

5 —C)51.2%) (D) 58.8%
D™
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Q16. A container of certain quantity is full of
milk. 8 litres of milk is drawn off and

replaced by water and this process is
repeated [three times more.) Therefore the
ratio of\water and milk becomes 65: 16. Find
the capacity of the con- tainer ?

TS UTA 38 & YT 3 21 8 Hiee g fAwrosde
3dsft & 3= A urel fAeTan Irm ag witsan gar:
diet ar 3z dgers o) 38 uYTa uTet 3R g
&1 3S[UTd 65: 16 €l I1ATI al UTA &6t &f3rar fasdetl

( EAi 24 litres 7/_@ (B) 16 litres/ &iee

(c) 27 litres (D) 25 litres [ &iee
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@ Q17. In a 25 litre mixture of O: and N: O: is
HEx2 . 36%. Some part of mixture is replaced

955 A -75} =7 St by N: and this process was repeated
e once again. If at the end O: become 9%

then find the part of mixture taken out in

25 -2y 4y one process?
5 )' Y ifxvq- _ 41|25 0: d N: & fAUT A 0. 36% &I 3aA
Py Y e dlee A Aeose IaSH FIE N.
= Az 1 33 qan a2 %a ve arR 3R T 2E
- an afe 3red fAST A 0. 9% &, al v ufehar A
67 ax =< fAsror 6 faeht AT arze fAsST
RAx = S (3)13.5

(D) 1.5
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Q18. A container of 64 litres capacity is filled

3 with pure milk. Some quantity of milk is drawn

(6 b - ‘r> _ off and replaced by water. This process is

¢y 6\ repeated two times more. Find the quantity

-y draw off every time if final ratio of water and
o A _milk be- comes 37:27?

c T 64 Flee eaTan areT UTA 2[ &l 2121 31 81 g8

CYox =Yg &l $B AT (BTGB Ida gl Ulell 32T Il AT

| ufesdn &1 a1 3112 S1gers 913 al U ufhar A gl &l
L= 1€ LW faaeft Ara 2 ﬂfuﬁqraﬁsﬁzq\amuéwwﬂ
37:27 &2

(A) 18 litres/ Stz i )[4
(C) 24 litres [ Stee ﬁli‘:ﬁ@
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Q19. A vessel contains 500!it of milk. 50 it of
milk taken out from it and replaced by
water. Then again from mixture 100.it are
(5t0-129) (500-taken out and replaced by water. Then

5oox (Seo -s0)

e, 4 . ™ -
° 500 5o again from mixture 125(it are taken out and
J < replaced by water. Find the ratio of milk and
Seox 45y IS P Yy .
g ‘sz\ﬂ#x =¥ water in the resultant mixture.

= W TS adal A 500 Hee 2 21 gat 50 e g

fA®sToT 31 3d< £ 21 T 319 100 Htez

MoWw fAsor st 31T 3 2 ureft 21 f2an 3|

1?:&3 125 Steg fRALT fABTST 302 3da1 & ureft 21
fean at 3@ ger 3112 arsft &7 3reqaTa &= 29T 2

<(A‘)ﬁ2f7_r:ﬁ\ (B) 27:5
(DLE (D) None
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Q26. A jar contained a mixture of two
liquids A and B in the ratio 4: 1. When 10

A B — lolit \ litres of the mix- ture was taken out and 10

A8 litres of liquid B was poured into the jar, this
ratio became 2: 3. The quantity of liquid A

" '““*contained in the jar intially was:

1o U AT A &l gd A 31T B a2l 41 & 3fe(ard A
21 5d fAgor & & 10 Htee ga fAdro®e 10 Siee

6 aaamm%aauggmzzsamélaa
uTedH A fASOT A ga A H fhastt Arar 2ft 2

(A) 4litres (B) 8 litres
K m (D) 40 litres

24
=\

M) L)

L
o
i
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@ Q27. The ratio of milk and water in a vessel
- w is 3: 1. 27 liter of mixture is replaced by 8

liter of wa- ter and ratio become 3: 5, then
el find unntity of mixture initially?
b . maﬁaﬁggmaﬁmﬁﬁm%,ﬁm
3He[aTd 3:1 gl 27 Stee fAgvr fAdTSHe 8
i aﬁzzuﬁh%?mmzﬁzﬁmszsz’tm
) ¢ al 3R fAsmr &t A= Tard|
| 5 liter/ B2 > (B) 60 liter/ &tee
25 Wl (C) 65 liter Htez (D) 70 liter| ez

\7
—
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Q28. The ratio of milk and wateris6:5ina
vessel. If 220 liter of mixture is replaced by
12 liter of water then ratio of mixture
become 3: 4, then find the quantity of
mixture initially?
U ddel A gl éatrraﬁ@_,zrajtna 6: 5 g1afe
sdA & 220 Sl AT [AdTs He ITH
GIVTE 12 e UTett faAeT f&an A at fAsmor &1
| Ho[UTd 34 §l Tdl g, df e & fasmor &t
) 313 SITd &2

Q=D 641l B) 290 L/&tee
+°? ff\;’ C) 260 I.I &3 296 LéFﬁ‘R
S {4 y
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— Yy 8 Lin Q29. The ratio of milk and water in a
vessel is 13:11 if 48 liter of Mixture is taken

out and 81 liter water is added then ratio

4 m o of milk and water becomes 7: 8. Find

1) | 197 :7ﬂ> quantity of milk in initial mixture.

U®h ddel A g8 3T UTsll &1 3He[urd 13: 11 &

af2 fAsor & 48 Siee g BT He 384 81

Fﬁamgm%m%a?q\uéﬁzq?m

o[uTd 78 & WTal 1 Urefee fAsmr & g

N8, HamAE s - =~
A) 301 lit B) 32 lit

.2% gcg 296 Iliteerr 68:3[%%

—

91 ‘. IO\,
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Q30. The ratio of milk and water in a
vessel is 5: 3. How much part of a

Mo mixture is replaced by 1/ 10 of its part

; '- by water so that the ratio of new
/‘5\1 3 Ecs (2 mixture become 1: 1?

U Sclol A &I d UTeft &1 3fe[uTd 5: 3 2138
i fRAS[oT T Eﬁﬁn AP fABISHE ITDT

2
&

1‘40 AT YTafl ﬁ?g fRar oA aifds se
: 8107 ST 3HS{UTd H &l ATC|
... sz (B) 4/7
o\ e 7 el (€)3/7 (D) 6/7
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1Y % /=4 Q31. The ratio of milk and water in a vessel
| is 5 : 3. How much part of a mixture is

M w replaced by 145% part of water so that the
3| [15 - @ ratio of new mixture become 3: 5?

U Sdol A g8l 31T UTell &7 3equrd 5: 3 1 34

e \  fRgror B I fRBISDBE I TITE
14g-:-mqraﬁﬁmﬁm%ﬁagﬁmmmﬁs
|5 bl Ho[UId 3: 5 |
’ A)14 (B) 13/17
| 16 =My L (c)15/17 ()RENY;

My N
2y
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Q33. A vessel contains a mixture of milk and
water in the ratio of 14:3. Now, 25.5 litres of
the mixture is taken out from the vessel and
2.5 litres of water and 5 litres of milk is added
to the mixture. If the resultant mixture
contains 20% water. What was the initial
quantity of mix- ture in the vessel before the
replacement ? (in litres)

U ddol A 14:3 & 3c(urd A g 32 Ursdl &I
fAsror 21 3@, 9da & 25.5 Stee fAT [ABTST
AATaT ¢ 3ite fAsror & 2.5 Sitee ureh 3z 5 Stee gu
fRsTan wrar 21 af? uffomsdt fAsmor A 20% urett
21 UfAaa & Uz ada A fAsor &t urefas
A= &t 2t ? (Slee H)

gg ?'15 (D§ 85
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Q34. A container contains mixture of

milk and water in which milk is 80%.

75% of mixture is taken out and 10 L

M ., Gotywater is added, now the
concentration of milk in the mixture

(e : 3 is 60%. Find the quantity of milk

initially.
| TS d & 2o 3T ureft &1 fAsror 2
X - 8 fATA 2 80% 21 fRVT BT 75% fABIS
S— 1o f3ar siran 2 3 10 Siee ureft fasmn
oATa 8, 3| fAsror A go &t Aigar 60% 2
- 2[& A g8l ol AT ST B
+o3 IR0\ (S

- 102 98
- (©) 5 s,
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Q37. A vessel contains a 32 litre solution
of acid and water in which the ratio of
acid and water is 5 : 3. If 12 litres of the
solution are taken out and 7% litres of
water are added to it, then what is the

ratio of acid and water in the resulting
solution?

Th ddol A 3433 3T TS &I 32 Siee 191 &,
ﬁaﬁmaﬁzmmu%g;w:s | 51d Sl
Ad12dtee uls A ATaT g e adal
A 7% Htee Ao A1 ffar arar € &t urd g
& 3T AT A BT He[aTd AT 2191 2

(A) 4:7 (B) 5:6

(C) 4:9 ()ERL
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Q41. The ratio of milk and water in a mixture is
5: 7. If 14 liters water is added to the mixture

then ratio be become 5: 9. Find the initial
quantiy of milk.

ve fRA0T A ger 3iie ureht &1 fe[uTa 57 &1 33 14
@iee urett 3e ITA1 at fASI0T &1 5141 e[
5:9 21 SITdl £ al g&f &l HATAT SATd HIfAC
(A) 36

(B) 37 (D) 41
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Q42. The ratio of milk and water in a mixture is

SV Frgudt et A AT S
LA

. 2, Q (B) 9> Liter

(C) 5; Liter (D) 3; Liter

W 2: 7. If 11 liter water added to the mixture then
M W ratio becomes I: 5. Find the initial quantity of
L7 milk.

+1

U fASIOT A g 32 Ureft T 3e[urd 27 €1 3&A 1
5[ e uret 3t fAeTan wTe &t A re[uTd 15 @ oA &
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Q50. The ratio of milk and water in a
mixture of 66 itis 5: 6. If 18 it water is
added to the mixture, then find the
ratio of milk and water.

66 Plce & T AT A g8 3112 UTeht &1
He[UTd 5:6 &1 34 18 uTett fAeT
f&an a1, &Y 319 3S[uTd ST E9T 2

(A) 4:5 (B) 9:5

(c) 5:9 (D) None
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Q56. Two equal glasses filled with
alcohol and water in the proportion 2:
1 and 3: 2 are emptied into a third
glass. The proportion of alcohol and
water in the third glass will be.

&l AT & & 2RI T UTett &
hatel: 21 312 3 : 2 A a2 ge g ald
alail &l fheTar ATl € dl ST fASoT A g8
d UTafl &1 3fe]aTd STd el ?

(A)13:17 B)19:17
(c)13:m 19: 11
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Q57. Three glasses of equal volume contains
= acid mixed with water. The ratio of acid and

Ll w water are 2: 3.3: 4 and 4: 5 respectively.

Mm 1w Contents of these glasses are poured in a large

355 | 9c 84 vessel. The ratio of acid and water in the large
| ~ vessel is.

3 0 433 | ac . 180 ESATSl_TAdS] dial et | urelt & a@my

. mamimaﬁzmaﬁm Ll 2:3,
5% | lye - 11s  3:4 302 4:5 ¥ 2o oA & Uerel Bl v a2 gl A
o) - Suy ST ATl €1 93 adel A 319w 3R uteft BT srequra

— - amz’r:rm

(B) 417:564
(D) 407:560
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Q58. Two bottles contain acid and water
in the ratio 2:3 and 1:2 respectively.

ACi  w These are mixed in the rateio 13. What is
. the ratio of acid and water in the new
AQ - W #

7 X 3 x%,«, 2 o mixture ? .
| | & dlas! A wAel: 2 3 3T | 2 & Aeud A
2 xsx}’j o 3FS AR AS A1 3 1:3 & urd A AT
Sy féan Siran €1 Sarze Se AT A 33 3R

— T3 &1 & 3e[UTd & ? —

(B) 11:57
C) 23:37 (D) 1:3
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Q59. In two types of brass the ratio of
copper to zinc are 8:3 and 15:7 respectively.
If the two types of brass be melted and
mixed in the ratio 5: 2 a new type of brass is
obtained. The ratio of copper to zinc in this
new type of brass is.

gl aeg & dlas A a1d 31T JEa &1 3Me]aTd shatel:
8:3 312 15 : 7 1 af? gl aeg & dias & flue
®¢ 5: 2 & e(urd A fAfsla &z f3ar ae at v
SIC UhTE &I Yldes do1 ATdl & 38 olC YR &
iae A ara 312 5&a &1 3e[uTd Sdrse?

(A) 3:2 2:3

(c) 3:4 qD) 5:2°)
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Q60. Three containers have their volumes in the
ratio 3:45. They are full of mixtures of milk and
water. The mixture contain milk and water in
the ratio of (4:1), (3:1) and (5: 2) respectively.
The contents of all these containers are poured
into a fourth container. The ratio of milk and
water in the fourth container is.

et Hearel & adeil BT STUTd 3:4:5 £ JaTdb g
32 urstt o1 fASIoT arer 81 fASoT A waer: (4:1), gg_;%

3ﬁz(5:%angqma¥§aaﬁztrﬁﬂilm
heatel & AU Bl Th 1 Heale A 3o fear Aran
g1 e Seete A g8 3ite uteft &1 fs[urd aarse?

(A) 42 (B) 151:48
@ (D) 5:2
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Lem= 128 Q61. Three vessels whose capacities are 3:2:1 are
completely filled with mixed with water. The ratio of
W milk and water in the mixture of vessels are 5:2, 4:1
and 4:1 respectively taking 1/3 of first 1/2 of second
2Ly7[rs el and 1/7 of third mixture a new mixture kept in a new
\ 2 vessel is prepared. The percentage of water in the
R LR N new mixture is. A
| 35 (%%, dier urat foereht erararsit 3:2:1 € ot 3 urst & o 2l
g S UTd A uzﬁzqraﬂ'ﬂugumamar: 5:2, 4: 1, A2
MW 4:1& 212 §11/3 301 Uge UTA A 1/2 HPT g2 UTA & a2
AT e 1/7 31 dER 3T uTA A fASIade v SiaT fAS0T
8 o1y ) Selrarordr € ad sid fAsior & uret i wfderdan gof 2
Lot e (A) 30% 3
51 @) —= (e)28% D) 24%>
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f 8 A+ Q64. The ratio of milk and water in two

5§ 3 35 4y vessels A and B is 5: 2 and 8: 5

respectively. In what ratio these

a. 8 ¢ @ mi).(tures should be mi)fed so that the

Sl 4 — ratio of milk and water in new mixture
=xs 8.0 2t Sxai  becomes 9:4?

e e &l gdeil A d2T B & 28 fASI0N & g8 aan

— 2 UTeft & shatel: 5:2 4T 8: 5 £ alail

3
N = gdsit &) Wmﬂﬁmmﬁs
4 .‘ -,/ - X A1 A g dUT UTeft HT AU 9: 4 &

%7%2\\ (B) 5:2

(Cc)3:2 (D) 1:2
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A = Q65. Two vessels A and B contain milk and

m w | m:w | n .. Waterinthe ratio 8:5 and 5: 2 respectively.

g < 5 -4 | The ratio in which these two mixtures be

~ 94  mixed to get a 3 new mixture containing
& 69-2% milk is.

:a,f"'z‘\ I 2l UTAl A 3M12 B A &l d2T UTeft shatel: 8:5 312 5:

¢ 2 & o(urd A g1 fASON & fFa sreuEa A

§ ‘-f\ fAeaTa afds o1 fAsror A ge1,69 % &
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312l2 = 24 Q66. Six coins of equal weight made up of

' 2|, an alloy of gold and silver are melted to

v s | e make another set of six coins. The ratio of

S bhs gold and silver in a coin is in ratio of 2: 1, in

L) 3.5 [ 5 ¢ two coins this ratio is 3:5, and for remaining

c - s i coms.ﬂys ratio is 7: 5. Find the ratio of goid
N s { Ty e and silver in new coins? .

6 -8 |18 30|us e SN0l 3T U A T3 GUGE AR ATS BE (Al I

AU A ISThe SIaRT Tl AT 21 Tah fAadb

W A T 32 Tl BT 3eard 2 : 1 370 31 A A
T o 3:53ﬂ§§mﬁ7:5m%@m

| faas] &1 AT EO 2

) i g

(B) 1:1
df %\jz (D) 42:45
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Q70. In a mixture water and alcohol are in the ratio
of 7: 3.25 liters of the mixture is withdrawn and it is
replenished with the another mixture in which
alcohol and water is in the ratio of 9: 11. Now if the
ratio of water and alcohol in the resulting mixture is
3: 2then what was the initial volume of the mixture ?
v fASIT &, uteft 32 siewhiges 7: 3 & 3fequra A €1 fAsm
&1 25 Slee va TR Ao A ge fRar amar ¢ Aad
RIE MR Ut 9: N> A 1 ufduratt fAsror & urstt
32 eHIES 3: 2 2, ad fAsor &t urefats arar o ot 2
(A) 32.5 liter (B) 37.5 liter

(C) 45 liters (D) 42liters
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Q3. 600 students took a mock exam in Delhi. 55% of the boys

A <, and 75% of the girls cleared the cut off in the examination. If the

55.) ¢4 total percentage of students qualifying is 63%. Find the number

/ of boys and girls appeared in the examination.

631, 600 gl o fAet A udten &t 55% H3HI A HT 3HTH UTd 6t 9AT 75%
/ \ &efdbdl ot B AP UTH Htl $& 63% Tl of He AT UTH 6l 3
@ 3 Sefdal Ht dem aansit ?

A) 360, 240 B) 320, 260
- %3\& (A) (B)

% (¢) 300, 300 (D) 200, 400




Q4. The ratio of weight of Kamlesh and Shyam is 4: 5. The weight

of Kamlesh is increased by 10%. Total weight of Kamlesh and

| aeee—

Shyam is increased by 82.5 kg. The percentage of increment in

total weight is 15%. Find the percent change in weight of Shyam.
Haresel 3T 2UTH & Tutel &I AT 4: 5 gl HAGI B dotel 10% 6
IAT1 5 dolal alail b1 82.5 fHIN. g IR F& Tofal A 15% &t IR
Z31 dl 24T 1 dutel fbdat ufderd aa1 2

(A) 18% @m
(C) 20% l Jo
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= I VOXSL
A I° ‘W')‘ 'HT'T Q5. Sunil has 4,000. He lends some of it at 3% per annum and
N7 0 "bvoff)‘/ remaining at 5% per annum. If after 1 year, he gets 144 as total
2. 5. . interest then find out the amounts given on different rates of
ZT %00 :
N . = 5X7 = Q800 interest? .
/3‘ /'\ Hoftes & UTa 2 4000 & 31 A FB HUA IS 3% ATfeb &2 U2 qT AN
R o 0 > Yoy 5% aTftes 42 Uz 3412 3 afe ves aef are s AT A 2144 &,

| ¢ g %32 1% faree- faves 29 U 3@ fsaen ereT 3eTE AT 2

~) .
3 (A) 21,800; 22,200 da’faz,soo; 21,200

—

4c) 22,500;2 1,200 (D) 22,500; 1,100
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Q6. A sum of 2 15,000 is lent out in two parts in such a way that
the simple interest on one part at 10% per annum for 5 year is

equal to taht on another part at 12.5% per annum for 4 years.

|0rs = |o.
RSx4 The sum lentout at12.5%is

o 7= 215,000 &t T 2ifel &t 3N A 33 wasre fAanfaa & wirdt € b ugss
d_D HITIZ 10% 1 22 & 5 T BT ATENTVT AT 312 g2 AT U2 12.5% 6l
1Sdo0 A 4Tl & T JeTae €1 99 12.5% &t 32 T fdbaa sud

x 362 AT 5 ) -

7
INEZ 0 1B) 27500\
(8)

(c)z7000 (D) 26000
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Q7. A sum of money? 1,750 is divided in two parts such that the
simple interest @ 8% per annum on first part and 6% per annum

on 2nd part is equgl after one year. Find the interest on each
\;

parts.
1,750 ht vh 21fel 2t i A = uabte fRanfaa it ardt 2 fh ugs aimer

8% bl a2 A Tt ATELMLUT AT 31T THE HPT U2 6% i a2 A aifdies
$[TZUT SUTol S2TaE 21 a9 Uclds 39T U2 T Ul & 2-

i IN

2T (a) z150 CIED

:'mie. cory (C) 2100 (D) 280
~(T

===
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Q8. A sum of Z 1521 is lent out in two parts in such a way that the
. interest on one part at 10% for 5 years is equal to than on
>< another part at 8% for 10 years. Find the two sums.

. 21521 &6t 21fel B 3 2N A 3& wabTe 3eme R wnan & ugs s e
3 10% a1fes g2 U2 5 aF o1 T, THE AP UE 8% dAlfdb g2 G2 10 ad &

%‘8 3¢ o & qerae g1 dlell ol it eifel sarzel

(A) 2 926,595 (B) 2906,615
(C) 2 916,605 )z 936,?8’?5
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Q10. The total population of a village is 8000. The number of

males and females increased by 6% and 10% respectiviey and
\——-

2 /° consequently the population of the village becomes 8600. What

was the number of females in the village?
TS Ja &1 Sereiean 8000 1 Afe qaul &t e A 6% it IR vd
afees13it &t Hzm A 10% Fi gfet a1 W Fereea 8600 & A,

vita & AfRes13 6t Tz sira Hifore-
(A) 2500
(c) 3100 (D) 5000
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Q. 1) ¥ 960 is received as an interest in 5 years
at ¥ 3600, while some part of it is given on 4%

I o rate and remaining part is given at 6% rate.
1Q . Find both part ratio.
Ylxs o ¥3600; 5 UTH & ford el WR 32 it 2960 =T
N7 firett| O HIT 4% R W fEar quT AW HIT 6%
1 ngga‘rmm%ﬁmmﬁq
2

) d#xﬁco

e \ s (A)2:1

" Hows
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Q. 2) A sum of 4000 is lent out in two parts,
one at 8% simple interest and the other at 10%
simple interest, If the annual interest is 352

The sum lent at 8% is:
34000 1 A 3 T & ol WS SAAI 21 TS
HTT 8% WIYRUI &6 WX 3R gORT HTT 10%
UTYRU &9 GR| gfe aiffe sarsr 352 & ot
aﬂgﬁqﬁmﬁma%mmwﬁa
|
(A) 2900 (B) 2200
400 (D) 3100
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Q. 3) A sum of ¥ 1,950 was invested partly at

5% and partly at 8% per annum on simple

interest. The total interest received after three

years was ¥300. The ratio of the money

invested at 5% to that invested at 8% is

? 1,950 B TP YR AP ¥U A 5% 3R
| Y 9 8% B a3 A HIYRU &g WX

TS STl &1 3 991 & @

N & Y H P 2
300 Ut U1 5% 31X 8% UR TS TS C 3

SUTH T -

(A) 113:5

(D) 113:7
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Q. 7) A man buys two tables at a total cost of
480. If the loss on first table is 15% and the

profit on second table is 19% and the S.P. of

both tables are equal. Find the C.P.

Ue Afa g A B 480 F. P} Wilgan § ol Tw
W | 15 Ufaxrd 8119 & 91g TYT g3t U 39 19
ufoera @y & arg| Ay gew wwE 8, @ <Al
qEg 3l BT T Yo Td DI -

E(A) ¥ 280, ¥ 200) (B) ¥ 220, ¥ 260

(C) ¥ 240, ¥ 240 (D) ¥ 210, ¥ 270
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Q. 9) The ratio of the quantities of sugar, in
which sugar costing 20 per kg and 15 per kg,
should be mixed so that there will be neither

\t.loss nor gain on selling the mixed sugar at the

rate o per kg, is:

9T B HEHT BT T g o1 UR % 20
by

ufa fear 3Ny #1 & LR GIER TS|
dr e g & iR 7 & a1y | TS SH T 18
ufa feet & f@wme I a1 Iar 8, U Jd
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Q. 10) In what ratio must a grocer mix tea at ¥

¢ s 60 a kg and ¥ 65 a kg, so that by selling the
\ 6/ mixture at ¥ 68.20 a kg, he may gain 10%?
. ¢ 60 ufa el 3R 265 ufar fbet &t 9w &
fyur &t fArard 81 o9 iy &1 2 68.20 wfa
T ¢

fe UX 9T &G € o 98 10% DT AT Ui
Cp gp  HYAIE Al IUTH [T B ?

oy ®) 3:4

ey (C) 3:5 (D) 4:5
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Q. 11) MEH bought 100 kg rice. Some quantity
of them is sold at 8% profit and some is sold at
18% profit. Therefore overall profit is 14%.
Find the quantity of rice part @ 8% profit.
MEH 3 100 f&Im amad @IE | 399 4 $© 9ad
8% ATH UX dUT PO 18% @H W a9 3wl g9
D A TA 14% BT ATH §3HTI 8% TH WX fba
TEE R T

(A) 60 (B) 20

(C) 80
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Q. 12) A shopkeeper had 50 Kg. rice. He sold
one part of it at a profit of 10% and on the
other, he losed 5%. His total profit was 7% on
the whole transaction. How many Kg. rice was
sold at a profit of 10%?

fft st & 9 50 . 99w & s ve
feT 9% 10% &Y TR 94T & 99T A9 5% DI
gIH W 9941 81 Fa ey 39 7 ufa=a &1

G182 | 39 10% AT TR fHa=r grad <=7
(B) 30 fo.

() 15 T, (D) 20 fo.




MATHCEMATICS By Pradeep Sir

\ Goo

1200

Q. 13) A man purchased a buffalo and a cow
for ¥ 2600. He sold the buffalo at a profit of
25% and the cow at a profi t of 20%. In 1 this

way, his total profit was 23—% Find the cost
price of the buffalo and cow.

US 3SH 3 ¥ 2600 § U HY 3R TS A
Eﬁ?ﬁlﬂ‘wwaﬁzseemmganeﬁzmw

20% BT A1 §3ATI P Hamdr I/ 23-% B
ATY g1 T 3R 7T B SERT- SR P &l

C (A) 1600, 1000

(B) 1500, 1100
(C) 1000, 1600
(D) 800, 1800
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31 5en ¢ Ty
5 CLL
| 5 /3 -)o '/-x.3
/\lq
8 S
Go
L %}(8 F \%: |€0
€a
T I = Y0 -
A

Q. 14) A man buys 3 type-l cakes and 6 type-l|
cakes for ¥900. He sells type-l cakes at a profit
of 15% and type-Il cakes at a loss of 10%. If his
overall profit is Rs.30, the cost price (in) of a

type-l and of a type-ll cakes is
P1E A - & 3 I IR -1l B 6 F

H 1P P DI
ggow milém:oeﬁﬁw%

39 Y eréu-
ahlvuaffaréq [ ?%%gu%%nﬁ)ﬁmz@ 1

(C) 180, 60
(D) 120, 90




MATHCMATICS By Pradeep Sir

Q. 15) A shopkeeper buys some articles in ¥

234. He sells 2/3 parts of at 15% profit. At how
d S

X+35 +

By Lgy\x =1 much % he should sell remaining that he gets

12% profit over all.
10 4+ 4+ = 1

L (G U® PSR T IGE ¢ 234 § W1 21 TF
e gy 2/3 fR=aT 15% 1Y R A= @ o @ g R
D/ \ 3 fran vfawa @1y W =7 =R aife oo

AR
(@/ . firema 12% &1 8-
X D (A)8 B) 6>

(C) 10 (D) 9
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Q. 16) A man buys 2 chairs in¥900/-. He sells

Ist chair at 5/4 of its CP and 2nd Chair at 4/5

LS/ ~ of of its CP in whole transaction he got 90/-
N profit. Find the CP of Ist chair.

% 4 U® J1eHl &t PRAT 900 U ¥ Wear 31 97

o~ -ié;s.otmﬁ B SHP P.H. P 5/4 W AR
\ 3P B, b 4/5 W AT a1 81 ¥ A
20 -7 ﬁ 3‘& 90 ¥UU an Ty gar gl Pl
Coe by (C) ¥ 400

(D) ¥ 650
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Q. 19) A shopkeeper buys 4 buffalo and 8 cow
in ¥10,000 her sells each buffalo at 15% profit
and sells each cow at 10% loss if in whole
transaction he gets 500 as profit. Then find the
difference between 1 buffalo and 1 cow.

U gPHTHGR 4 U TUT 8 7T £10,000 H WGl
2 ofe U9 W I/ 15% 1Y TYT T UR 10% P

g Yt @ af 3/ oo @Y 2 500 &Y, 9 U AA
YT U 7T BT 5T Yed H 3ax J1d Pifere-
(A) 1500 (B) ¥ 1800
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Q. 23) 39 are to be divided among 65 students
of a class. If each of the boys gets 80 paise and
each of the girls gets 30 paise.

.%%. 2o  Then find out the number of boys and girls in

=" the class?
I Ao et o e

aﬁsoﬂﬁﬁaﬁ%a‘rwmﬁ
=R %aﬁmmaﬂﬁq g

—(B) 39, 26
(C) 42, 23

(D) 40, 25
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oo P

[h5)st |,

C,

Sop
N/

Gop

Cq9Rs Q. 24) 69 is divided among 115 students in
p——

such a way so that each boy gets 50 paise
more than each girl. Each boy gets double
amount than each girl. then find the no of
boys.

269, 115 fAenffaf A s e s wd § &
AP AP, TP dsa! 4 50 U9 fe urw
HYdl 81 TS AT, Wasaﬁi%;ﬁuﬁr
UTW Il 8, dl ASHI Bt G4SN J1d -

(A) 25

(C) 27

(D) 29
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85

(x+32)
S s
\ & '

(X +H) =\
X4+3= LYo

Q. 25) A cricketer makes some runs in 15
innings. He makes 85 runs in sixteenth inning
and by this, his average runs exceed by 3.
What is the average of his runs after sixteenth
inning?

febe & ta f@arSt 17 15 uilal # 98 =
Ceipf 16é’ftnﬁﬁmss!=ra=rr&amm
ID! T I &I Ugd | a9 3= 3fte 8l
%ﬁé‘rmaﬁmmaﬂaﬂmnm

G(."%"S
B) 40

(C) 43
(D) 45
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Q. 26) A batsman has certain average of runs
in 11 innings. He made 90 runs in 12th inning.
As a result of which the average of his runs
decreased by 5. What is the average of his runs
after 12th inning?

U geaars &1 11 UGl # 391 &1 $© N9d ¢!
124 U} # I¥A 90 I FAC FHawaey
SUP ¥l BT G 5 PH & T 128 TR F
g1 SUD A1 BT 3Ad B

CYRED

<(B) 1457
(C) 150
(D) 145.5
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Q. 27) A batsman has a certain average of runs
for 12 innings. In the 13th inning he scores 96
runs thereby increasing his average by 5 runs.
What will be his average after 13th inning?

foft aoitar &1 12 UTal &1 v fAfda sia
21 13-df U} & 9% 96 39 ¥1aT 21 forad aad
3ftea ® 5 1 @t gfg 8 &t 81 13-df Ut &
q1¢ IUDT 3Hd HT BN 2

(A) 28

(Bi 32

(D) 42
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Q. 28) Average Run per wicket of a bowler is

Lo 11.5. In his next innings bowler took 5 wickets
5 - 4 and conceded 40 Runs, there by he reduced his
bowling average by 0.5. Find total no. of
‘ R wnckets taken b
s p aﬁwr—mﬁﬁ'&wns%lm
AN ur&ﬁa*sﬁzammw%msﬁ&zﬂm%

7 ﬁfﬂﬁmmﬁﬁaﬁwosmam%m’r
Tigar gRT ford 18 e fadel @1 d= feat

N BN 2
(PO WA

s dB) 35>
e s
N/ (D) 17
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Q. 29) Zaheer khan whose bowling average is
12.4 runs per wicket takes 5 wickets for 26
runs and there by decrease his average by 0.4.
Find the total no. of wickets ?

WelR @ forger Agamt ia 12.4 39 ufa
faﬁszélagzeﬂémsf&%»zam f%m@
3T 0.4 U WIET § o $a fabel

fpa=t gnft 2

(A) 70

(B) 80

(D) 100
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Q. 30) Average weight of boys is 30 kg. While
average weight of girls is 15 kg and average
weight of total class is 25 kg. If the no of boys
is 40. Find the no. of girls?

APl BT AT I 30%—@% aﬂ
ﬁ%m”g’?ﬁ"’% T 7 st

25 | 3R *ﬂ@uo

P! ST J1d PIfore-

(A) 30

(B) 40

(C) 50




MATHCEMATICS By Pradeep Sir

Q. 31) In a class boys and girls are in ratio of 3:
1. Average marks of boys are (A + 4) and
average marks of class are A. Find the average
marks of girls.

G |
. N UP H&TH dSd 3R dSfhal $T 3FFUTd 3: 1 8|
s asﬁ%eﬁmaiﬁm+4)aﬁ?af&n$m

3P A ¢, d defeal & aN9d 3P J1d Hiferd-
C(A) A-12)
(B)A + 12

(C) A-8
(D) A +8
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Q. 32) In a class boys and girls are in ratio 2: 1.

Average weight of boys is 30 kg and average

weight of girls is 15 kg. Find the average

weight of class.

Qib' P& ¥, ﬁ 3R aSfHal BT U 2: 1
gl AP B HR 30 fpat oy asfdal 1

ahmmwﬁwhéla?&nmeﬁ'ﬂa YR T

(A) 20
(B) 30

(D) 35
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Q. 33) In an examination average marks
obtained by the girls of a class is 85 and the
average marks obtained by the boys of the
same class is 87. If the girls and boys are in the
ratio 4:5, average marks of the whole class

(approx) i;é:losest to. SSC g%L Mai;ns 201
Tdh PaEll asibal &1 &1 H UTdidpt &1
3 85 § 3R I FaT § ASH! & WIdid! B

¥ 87_g| ulg @wSfPal 3R a8F 45 &

<oy U H 8, A T P& F WA 3P (ISFH:)

do
'

, a2
(A) 86.4
(B) 85.9

C) 86.5
< .
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Q. 35) The average monthly payment of
workers in a workshop is 8,500. If average
monthly payment of 7 technical experts is
10,000 and that of the rest workers is¥7,800.
Then find out the number of total workers in

the workshop?

fdt srdemer & yfyel &1 aifyre siua aaq
8500 ¥UY g\ ufe 7 ao-ta! fARusl &1 Al
3¥d ad9 10000 IUL &l AR AY yHH &1
HIe 3Ed ad9 7800 YT &1, o HraxTar o
HIIRA 4! B Fd GBI | ?

(A) 18

(B) 20

(D) 24




MATHCEMATICS By Pradeep Sir

Q. 36) The average monthly production of a
company for the first 3 months is 4,000. What
should be the average monthly pro- duction
for the next months so that the average
monthly production for the whole year

(D) 4710
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Q. 38) The average monthly salary of all the
employees in a factory is 8840. If the average
salary of all the officers is ¥15000 and that of
the remaining employees is ¥8000, then what
is the percentage of the officers among the

employees?

EFSiSEEdiiiimﬁiaﬂﬁmﬁnﬁisraﬁaa“&aq
28840 ¢ ufe ¥t sfre il &1 o =
315000 © 3MX VY HHANGT $T T a7 2
sooo%aiaﬁaﬁu’fﬂaﬁmﬁu’fmuﬁm

(C)8§ (D)11§
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Q. 39) The average daily wages of staff,
consisting of supervisors and labourers, of a
company is 50. The average wages of
supervisors is 150, while that of labourers is 40
per day. If the number of supervisors is 15,
find the number of labourers in the company
TP HUAl & TP & gtmr?n nm'{{ &
wfafes &1 3f\a da= T 50

aﬁ'\%a%aqe 150, Gﬁ'ﬁfﬂﬂ'{\'ﬁaﬁ”ﬂﬂaﬂqi
40

gfe P IBAT15 8
Pl ﬁm“ai:g'lq Dol Hoig?

(A) 170
(B) 100

5%,
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Q. 40) In a team of 10 persons, nine persons
spent 40 each for their meal and the remaining
one spent 9 more than the average
expenditure of all the 10 persons. The total
expenditure for their meal was

10 Ifeaal @t 9 & 3t saferal 3 s v
o1 ufa 2 40 @ fHU iR
QY U Afdd 2 It 10 safeaal & iad @d |
29 it @d fhu|
Yo IR o fha-r saa 3112
A) % 410
( 10
(C) 510
(D) ¥ 310
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Q. 41) The average weight of first 11 persons

= among 12 persons is 95 Kg. The weight of 12th
person is 33 Kg. more than the average weight

of all the 12 persons. The weight of the 12th
a8 person is: SSC CGL Mains 2014
52 12 @0 H ugd 11 @R BT N4 a9 95 .
&_‘aﬂv 21 12 § aafad &1 9919 12 @ & 3fd awi= |
33 . aiftres B, @t 12d =fea &1 aw= fsan
82
(A) 128 Kg./ oo
(B) 97.45 Kg./ fo.

(C) 128.75 Kq./ fo.
@Kg.fh’ﬁ




